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May the festival of colors brighten your life
— with happiness, and success.

2080 Mayyou are blessed with peace and prosperity
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In AABC, M is the midpoint of the side AB. N is a point in the interior of AABC such that CN is the bisector
of ~C and CN_LNB. What is the length (in cm) of MN, if BC =10 cm and AC=15cm?

AABC #, 3[5IT AB T Wegfag MBI NTF T g § S AABCF 3ieT 39 WaR e 8, fF cN, 4

&1 AAGIATSS ¢ 3 CNLNBEI IfE BC=10cm 3R AC=15cm, @ MN &I da1§ (cm &) Rra=r &2
(a)2.5 (b) 2 (c)5 (d)4 [SSC CGL MAINS 2020: 29 JAN 2022]

01:00
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Let x = (433)%* - (377)°% + (166)>*. What is the units digit of x?
AT o 9 x=(433)%-(377)® + (166)°* %, A X BT SHIS HT HH FIAT 72

(a) 8 (b) 7 (c)6 (d)9
[SSC CGL MAINS 2020 29 JAN 2022]

01:00
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fa+b+c=1,ab+ bc+ ca=—22and abc = —40, then what is the value of a3 + b3 + ¢3?

I a+b+c=1ab+ bc+ca=-223 abc=-40 A & + b3 + 3FHT AT FAT BAM?
(a)67 (b) =53 (c) =51 (d)27

[SSC CGL MAINS 2020: 29 JAN 2022]

01:00
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The value of

1 1 1 1 1 1 1 .
AE . /iE _+ 14 a2 . [i9a —+ 1 TN .'—+ AN o .'—IS:
4—/15 Vv15—14 v14—13 Vv13—v12 Vv12—/11 v11—+/10 v10-3 3—/8

1 . 1 n 1 _ 1 n 1 . 1 n 1 . 1

4—+/15 v15—-v14 Vv14—+/13 Vv13—/12 Vv12—/11 Vv11—/10 v10-3 3-8

(Q)2+2V2 (b)2—-2V2 (c)4—-2V2 (d)4+2V2
[SSC CGL MAINS 2020: 29 JAN 2022]

01:00
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If a 10-digit number 75462A97B6 is divisible by 72, then the value of V84 — 4B is:
75462A97B6 U UHT 10-37hIT T&AT & 3T 72 ¥ AHT=T &, @Y V84 — 4B &T AT AT HI|

(a)V28 (b) V21 (c) V30 (d) V27

[SSC CGL MAINS 2020: 29 JAN 2022]

01:00
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An article is sold at a certain price. If it is sold at 33%% of this price, there is a loss of 33%%. What is the
percentage profit if the article is sold at 80% of its original selling price?

TF T, UF AREd Aew W A Il 1 A 3@ 39 AFT & 33.% W 49T oA, A 33.%
gifer Xt I avq A 38F A7 RFT AeT F 80% T I°7 oA1ar ¢ A wfdera amr F=4r gem
(a) 50% (b) 40% (c) 70% (d) 60% [SSC CGL MAINS 2020: 29 JAN 2022]

01:00
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A student goes to school at a speed of 5 % km/h and returns at a speed of 4 km/h. If he takes 4% hours for
the entire journey, then the total distance covered by the student (in km) is:

wF B 5. e #1 afa ¥ e Sren § s 4 B A afy @ amw s 1 IR T

oft T H 4- 6 A B, A o q@wr a7 A a1 Fa g (B ) @
(a)11 (b)22 (c)16 (d)24

01:00

[SSC CGL MAINS 2020: 29 JAN 2022]
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In AABC, «B =78° AD is a bisector of ~A meeting BC at D, and AELBC at E. If ZDAE = 24°, then the
measure of ~ACB is:

AABC #, £B=78° §, .A FT HAGANTA® ADE &I BCH fag Do frear & 3R &g E9X AELBC R

g ,DAE=24° &, ar LACBH# AT FIT &2
(a)38° (b)30° (c)32° (d) 42° [SSC CGL MAINS 2020: 29 JAN 2022]

01:00
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ABCD is a cyclic quadrilateral and BC is a diameter of the circle. If ~.DBC = 29°, then ~BAD =?

ABCD U Th1T I8 ¢ 3R BCIT &1 &4 71 IR ~DBC=29° §, @ ~BAD FT AT fhae 82
(a)111° (b)119° (c)122° (d)129°

[SSC CGL MAINS 2020: 29 JAN 2022]

01:00
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. 1
If x2 —\7x + 1 = 0, then what is the value of x° + E?

Ifg x2—V7x+1=0 g ar x5+x—15$rm?rwa’mr?
(a) 19V7 (b) 27V7 (c) 21V7 (d) 25V7

[SSC CGL MAINS 2020: 29 JAN 2022]

01:00




